Run 5665 triggerwise, sums: All
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Run 5665 triggerwise, sums: Beam ON, Laser ON
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Run 5665 triggerwise, sums: Beam OFF
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Std Dew: 35550438 +- 187,508
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Run 5665 triggerwise, sums: Beam ON, Laser OFF

45000

40000

35000

30000

25000

20000

15000

10000

5000

Pﬁ—H—l—I—H—H—I—l—H—I—I—PII

|-L|'|-1—=illll IIIII IIIII IIII IIIII II|I|_J_|_|II |||

— Helicity==0
— Helicity==

Eniries: 50383

Mhzan: T338.2432 4 304457

‘Bed D 91213607 +- 31,5287

0

10000

20000

30000

40000

50000

60000

f0000  BOOOO




